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�� 'HILQH�KHDOWK�LQGLFDWRU���&ODVVLI\�DQG�GHVFULEH�KHDOWK�LQGLFDWRUV���/LVW�VL[�TXDOLWLHV�RI�D�
JRRG�LQGLFDWRU�RI�KHDOWK���(QXPHUDWH�XVHV�RI�KHDOWK�LQGLFDWRU����

�� 'HILQH�RFFXSDWLRQDO�KD]DUGV��'LVFXVV�SK\VLFDO�KD]DUGV�DQG�LWV�LPSDFW�RQ�KHDOWK���
�� 'HILQH�DFFLGHQWV��(QXPHUDWH�WKH�W\SHV�RI�DFFLGHQWV�DQG�GLVFXVV�WKH�FDXVHV
�� ([SODLQ�WKH�VLJQV�DQG�V\PSWRPV�DQG�ILUVW�DLG�PDQDJHPHQW�RI��D��VWURNH��E��EXUQV��F��

GRJ�ELWH
�� 'HILQH�(UJRQRPLFV��/LVW�WKH�FRPPRQ�UXOH�RI�(UJRQRPLFV��'HVFULEH�WKH�ZRUN�UHODWHG�

WR�XSSHU�OLPE�GLVRUGHU��
�� :ULWH�VKRUW�QRWHV�RQ�

D� 6WHSV�LQ�UHFRUGLQJ�DQG�QRWLILFDWLRQ�RI�RFFXSDWLRQDO�GLVHDVHV
E� 3XUSRVHV�RI�RFFXSDWLRQDO�KHDOWK�UHFRUGV
F� &RQIOLFW�RI�LQWHUHVW�ZLWK�UHVSHFW�WR�UHSRUWLQJ�RFFXSDWLRQDO�GLVHDVHV

�� 'LVFXVV�WKH�VWHSV�LQ�UHFRUGLQJ�DQG�QRWLILFDWLRQ�RI�RFFXSDWLRQDO�GLVHDVHV
�� 'HVFULEH�LQ�GHWDLO�KRZ�D�FDVH�FRQWURO�VWXG\�FDQ�EH�FDUULHG�RXW


